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Steppingstone activity

Lesson 3

LO: To recognise, find and name a half as one of two equal parts of a quantity

Success Criteria:

Complete the sentence:

Half of is

Complete the sentence:

Half of is

1. Count the dots carefully — double check to make sure you have the correct amount
2. Draw the 2 circles
3. Share the amount between the 2 circles to find half (1/2) of the amount
4. Complete the sentence
Model:
. .' . . 1. Draw 2 circles and share the dots 2. Draw 2 circles and share the dots 3. Draw 2 circles and share the dots
1. equally between them. equally between them. equally between them.

Complete the sentence:

Half of is

4. Draw 2 circles and share the dots
equally between them.

Complete the sentence:

Half of is

5. Draw 2 circles and share the dots
equally between them.

Complete the sentence:

Half of is

6. Draw 2 circles and share the dots
equally between them.

Complete the sentence:

Half of is
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Lesson 4

LO: To recall and use multiplication facts for the 5 times table Ei Z :gg

7x5=35

Task: 8x5=40
You are going to be revising counting in fives é 0w b5t

10 x5=50

11 x5=55
Success Criteria: m 12x5= 60.‘.&5
1. Watch the five times table video
2. Complete the pattern counting in fives— see how far you can get, what do you notice about the ones digits?

3. Answer the questions below, on the five times table (remember you can use your fingers to help you)
Model:
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Main activity
Complete at least 2 columns, more if you can!
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Task 1 Task 2 Task 3 Task 4
Practice Practice Reasoning Problem solving
Can you answer all | Complete the multiplication Explain vour answers. S .
of these two times | Wheels using your knowledge P y _ _ E_n::. | am thinking of a number in the 5
table questions? .of the 5 times table! ::;w[;?;ny is planting seeds to grow times tables.
Ox5= =3 g:xwznm to plant 8 seeds into 5 flower

4 c 3 ' | multiplied 5 by a number that is bigger
- 7 10 than 3 but smaller than 7.
o a5 B -
10x5=
H ds with does D 42 What could my number be?

_ ow rhany seeds with does anny need= | write down all the possibilities.

__x5=35 e Explain your answer.
5=15 3 5 6 5b. Lisa is sharing out the glue sticks in her ?b' | ﬂtml:rlnklng of @ number in the 5
—Xo= 8 11 classroom. Imes taples.
5|7
Xx5=5 There are é tables and each table needs
— 5 glue sticks.
| multiplied 5 by a number that is bigger
__x5=40 55 than 7 but smaller than 11.
50 /\2 i
__x5=60 3 7 -
60 q 20 How many glue sticks will Lisa need? What could my number be?

__x5=55 » Explain your answer. Write down all the possibilities.




